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ECONOMICS—I 

Time : 3 Hours  Maximum Marks : 100 

Note : (i) Section A : Answer any two 

questions. 

 (ii) Section B : Answer any four 

questions. 

 (iii) Section C : Answer both the 

questions.  

Section—A 

Note : Answer any two questions from this 

Section. Each question carries 20 marks. 

2×20=40 
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1. (a) Define CES production function. Under 

what parametric values the CES 

production function can be 

approximated as Cobb-Douglas 

production function ? 10 

(b) Given the utility function of a consumer 

 
1 1

2 2U X,Y X Y , where X and Y are two 

commodities, prices of good X (Px) and 

good Y (Py) are respectively ` 1 and ` 4. 

Income of consumer is equal to  

` 120. Using Lagrangian method, find 

the optimal quantities of X and Y. 10  

2. (a) Explain the concepts of risk aversion, 

risk neutrality and risk lover with 

relevant examples. 10 

(b) A consumer is assumed to live in two 

time periods 1 and 2. His consumption 

and income in time period 1 are C1 and 
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Y1 and in time period 2, C2 and Y2 

respectively. The prevailing market rate 

of interest is r. Using a diagram, derive 

the intertemporal budget constraint for 

the consumer. How do the inter- 

temporal choices of the consumer 

change with increase in the prevailing 

market rate of interest (r) ? 10    

3. (a) Explain the differences between short- 

run production function and long-run 

production function. 8 

(b) Given a production function :  

              Q = AL K  , , 0 A > 0     

where Q = output, L and K are inputs. 

(i) Check the returns to scale for the 

production function. 4 



 [ 4 ] BECC–105 

B–1802/BECC–105 

(ii) Calculate output elasticities of L 

and K. 4 

(iii) Calculate Maginal Rate of 

Technical Substitution MRTSLK. 4   

4. (a) “A competitive equilibrium is a 

Walrasian equilibrium.” Elucidate this 

statement with the help of a diagram.10   

(b) Using appropriate diagrams, explain 

the importance of second theorem of 

Welfare Economics.  10 

Section—B 

Note : Answer any four questions from this 

Section. Each question carries 12 marks. 

4×12=48 

5. Explain the difference between 

compensating variation and equivalent 

variation with appropriate diagrams. 12 

6. (a) Draw the isoquant map for the 

following production functions : 6 

(i) Linear production function 
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(ii) Leontief production function 

(iii) Cobb-Douglas production function 

(b) Given a production function of a firm : 6 

X = 8L + 0.5L2 – 0.2L3 

where X is level of output produced and 

L denotes 100 workers. Determine the 

point at which Marginal Product of 

Labour equals Average Product of 

Labour (MPL = APL).    

7. (a) Discuss the properties of a cost 

function. 6 

(b) Given the total cost function : 6 

                    TC = Q3 – 4Q2 + 10Q + 10 

 Find out Average Cost (AC), Average 

Variable Cost (AVC), Average Fixed 

Cost (AFC) and Marginal Cost (MC).   



 [ 6 ] BECC–105 

B–1802/BECC–105 

8. Given a production function of a firm  

Q = 10 KL , where Q is the output and K 

and L are the factor inputs. Given per unit 

price of factor input K at ` 3 and that of 

labour input, L at ` 12. 

(i) Determine the equation of the 

expansion path. 6 

(ii) What will be the minimum cost of 

producing 1000 units of this good ?  6 

9. (a) Explain the meaning of consumer 

surplus. How is it measured ? 6 

(b) Explain the effect of price changes on 

consumer’s surplus using appropriate 

diagram. 6 

10. State the Von Neumann-Morgenstern 

Expected Utility Theorem. What are the 

assumptions of the theorem ?    12 



 [ 7 ] BECC–105 

B–1802/BECC–105 P. T. O. 

11. (a) Explain the firm’s short-run 

equilibrium in a perfectly competitive 

market with the help of appropriate 

diagram. 6 

(b) What is the relation between average 

variable cost and short-run supply 

curve ?  6 

Section—C 

Note : Answer both questions from this Section. 

Each question carries 6 marks. 2×6=12 

12. Explain any two of the following : 3+3 

(a) Well-behaved preferences   

(b) Certainty equivalent 

(c) Returns of scale 

(d) Walras’ law  
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13. Distinguish between any two of the 

following :   3+3 

(a) Cardinal utility and Ordinal utility 

(b) Shut down point and break-even point 

of a firm 

(c) Utility function and preferences 

(d) Average cost function and marginal cost 

function  
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 BECC–105 

ch- ,- ( vkWulZ ) vFkZ'kkL= (ch-,-bZ-lh-,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&105 % ek/;fed O;f"V vFkZ'kkL=µI 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) Hkkx ^d* % fdUgha nks iz'uksa ds mÙkj fyf[k,A 

 (ii) Hkkx ^[k* % fdUgha pkj iz'uksa ds mÙkj fyf[k,A 

 (iii) Hkkx ^x* % nksuksa iz'uksa ds mÙkj fyf[k,A 

Hkkxµ^d* 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj nhft,A izR;sd iz'u 

20 vadksa dk gSA 2×20=40 

1- (d) fLFkj izfrLFkkiu nj (CES) mRiknu Qyu dh 

ifjHkk"kk nhft,A fdu izkpy ekuksa ds varxZr CES  

mRiknu Qyu dks dkWc&MXkyl mRiknu Qyu 

leku&izk;% ekuk tk ldrk gS \ 10 
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([k) fn;k gS] miHkksDrk dk mi;ksx Qyu 

 
1

2 2U X,Y X Y


 ] tgk¡ X  rFkk Y  nks oLrq,¡ gSaA 

budh dhersa Øe'k% Px
 rFkk  Py  gSa vkSj muds eku 

Øe'k% ` 1 rFkk ` 4 gSaA miHkksDrk dh vk; ` 120 

gSA ySxzkaft;u fof/k dk iz;ksx dj X  vkSj Y  dh 

b"Vre ek=k,¡ vkdfyr dhft,A 10 

2- (d) tksf[ke fojfr] tksf[ke fujis{k rFkk tksf[ke fiz; dh 

ladYiukvksa dh mnkgj.kksa lfgr O;k[;k dhft,A 10 

([k) ,d miHkksDrk nks vof/k;ksa esa fuokl djrk gSA ;s gSa 

vof/k 1 rFkk vof/k 2A bu vof/k;ksa esa mlds 

mi;ksx vkSj vk; ds eku Øe'k% 
1 1

C ,Y  rFkk  

2 2
C , Y  gSaA cktkj esa C;kt nj r gSA ,d js[kkfp= 

dk iz;ksx dj miHkksDrk dk varvZof/k ctV lajks/k 

O;qRiUu dhft,A cktkj dh C;kt nj r esa o`f¼ gksus 

ij miHkksDrk ds varvZof/k p;u esa fdl izdkj 

cnyko vkrs gSa \ 10 
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3- (d) vYidkyhu mRiknu Qyu ,oa nh?kZdkfyd mRiknu 

Qyu esa Hksn Li"V dhft,A 8 

([k) ,d mRiknu Qyu Q AL K   gS] tgk¡ 

, 0, A>0    gS vkSj Q  mRiknu rFkk L  vkSj 

K  Øe'k% Je vkSj iw¡th ds vknku gSaA  

 (i) mRiknu Qyu ds iSekus ds izfrQyksa dh tk¡p 

dhft,A 4 

(ii) L rFkk K ds izfr mRiknu dh yksp vkdfyr 

dhft,A 4 

(iii) rduhdh izfrLFkkiu dh lhekar nj dk 

vkdyu dhft,A 4 

4- (d) ß,d Li/khZ larqyu okyjkfl;u larqyu gSAÞ ,d 

js[kkfp= dh lgk;rk ls bl fopkj dh O;k[;k 

dhft,A  10 

([k) mi;qDr js[kkfp=ksa }kjk dY;k.kdkjh vFkZ'kkL= ds 

f}rh; {ks= izes; dk egRo le>kb,A 10 
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 Hkkxµ[k  

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj fyf[k,A izR;sd iz'u 

12 vadksa dk gSA 4×12=48 

5- mi;qDRk js[kkfp=ksa }kjk {kfriwjd ifjorZu rFkk lerqY; 

ifjorZu esa vUrj le>kb,A 12 

6- (d) fuEufyf[kr mRiknu Qyuksa ds fy, leksRikn 

ekufp=ksa dh jpuk dhft, % 6 

 (i) jSf[kd mRiknu Qyu 

(ii) fy;ksf.VQ mRiknu Qyu 

(iii) dkWc&MXkyl mRiknu Qyu 

([k) ,d QeZ dk mRiknu Qyu gS % 6 

2 3X 8L+ 0.5L 0.2L    

tgk¡ X  ls mRiknu Lrj vkSj L  }kjk 100 Jfed 

n'kkZ, x, gSaA og fcUnq Kkr dhft,] tgk¡ Je ds 

vkSlr vkSj lhekar mRiknu leku gksaxsA  
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7- (d) ,d ykxr Qyu dh fo'ks"krkvksa ij ppkZ dhft,A 6 

([k) ,d ldy ykxr Qyu bl izdkj gS % 6 

3 2TC = Q 4Q 10Q+10    

 blds fy, vkSlr ykxr (AC), vkSlr ifjorhZ 

ykxr (AVC), vkSlr fLFkj ykxr (AFC) rFkk 

lhekar ykxr (MC) dk vkdyu dhft,A  

8- ,d QeZ dk mRiknu Qyu Q 10 KL  gS] tgk¡ Q  

mRiknu vkSj K  ,oa L  Øe'k% iw¡th rFkk Je gSA K  dh 

dkjd ykxr ` 3 izfr vknku bdkbZ gS rFkk Je dh izfr 

vknku bdkbZ ykxr ` 12 gSA  

(i) foLrkj iFk dk lehdj.k fu/kkZfjr dhft,A 6 

(ii) bl oLrq dh 1000 bdkb;ksa ds mRiknu dh U;wure 

ykxr D;k gksxh \ 6 

9- (d) miHkksDrk vfrjsd dh O;k[;k dhft,A bls dSls 

ekirs gSa \ 6 

([k) mi;qDRk js[kkfp= }kjk dher ifjorZu ds miHkksDrk 

vfrjsd ij izHkko dh O;k[;k dhft,A 6 
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10- okWu U;weSu&ekWxsZULVuZ izR;kf'kr mi;ksfxrk izes; crkb,A 

bl izes; dh ekU;rk,¡ D;k gSa \ 12 

11- (d) ,d iw.kZ Li/khZ cktkj esa QeZ ds vYidkfyd larqyu 

dh mi;qDr js[kkfp=ksa dh lgk;rk ls O;k[;k 

dhft,A  6 

([k) vkSlr ifjorhZ ykxr rFkk vYidkfyd vkiwfrZ oØ 

esa D;k laca/k gksrk gS \ 6 

Hkkxµx 

uksV % bl Hkkx ls nksuksa iz'uksa ds mÙkj nhft,A izR;sd iz'u 6 vadksa 

dk gSA  2×6=12 

12- fuEufyf[kr esa ls fdUgha nks dh O;k[;k dhft, % 3$3 

(d) lgh izdkj dh ojh;rk,¡ 

([k) fuf'prrk lerqY; 

(x) iSekus dk izfrQy 

(?k) okyjl dk fu;e 
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13- fuEufyf[kr esa ls fdUgha nks esa Hksn dhft, % 3$3 

(d) ifjekf.kd mi;ksfxrk vkSj vuqØfed mi;ksfxrk 

([k) ,d QeZ dk dkecanh fcUnq rFkk ykxr iwfrZ fcUnq 

(x) mi;ksfxrk Qyu vkSj ojh;rk,¡ 

(?k) vkSlr ykxr Qyu vkSj lhekar ykxr Qyu 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


